LESSON 12 PLACE VALUE

Name

Directions: Click the video button or scan in the QR Code to bring up the
instructional video. Solve the problems listed below. Place the video first then you
will be told to pause the video and complete the lesson. Continue the video when
done and you will be provided with the answers. Find the missing number.

D + 100 + 90 + 4,000 + 8 = 64,198

» 20 + 50,000 + 400 + + 3 = 566,423

“ 0+ 0+ 900 + 5,000 + = 45,900

® 6+ 700 + + 10,000 + 70 = 16,776

S 2+ 80+ + 6,000 + 90,000 = 96,782

7 90 + 30,000 + 600 + + 5 = 33,695

® 5+ 800 + 8,000 + + 90 = 48,895

? 6+ 600 + 6,000 + 20 + = 06,626

'? 50,000 + 800 + 40 + + 8 = 55,848

" 4 + 20 + 600 + + 20.000 = 22.624
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2 4 + 20 + + 0+ 10,000 = 10,524

-
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https://drive.google.com/file/d/0B-TuGxztps3TeVVTaG5SYWxEVkk/view

